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Πρόβλημα

Δίνεται η συνάρτηση:

A(x) =
xν

xν + (1− x)ν
, x ∈ R, ν ∈ N

(α) Να αποδείξετε ότι:

A(x) +A(1− x) = 1

(β) Να υπολογίσετε το άθροισμα:
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Προτεινόμενη Λύση

(α) Υπολογίζουμε την παράσταση:

A(1− x) =
(1− x)ν

(1− x)ν + [1− (1− x)]ν

=
(1− x)ν

(1− x)ν + (1− 1 + x)ν

=
(1− x)ν

(1− x)ν + xν

Άρα:

A(x) +A(1− x) =
xν

xν + (1− x)ν
+

(1− x)ν

(1− x)ν + xν

=
xν + (1− x)ν

(1− x)ν + xν

= 1
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(β) Από το ερώτημα (α) για
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παίρνουμε:
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Επιπλέον, έχουμε:
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A(1) =
1ν

1ν + (1− 1)ν
= 1

Άρα:
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= 1 + 1 + 1 + · · ·+ 1︸ ︷︷ ︸
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